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Instruction : Mention the same number of answer as in the question paper.

1.

Explain Average Cost and Marginal Cost. Show the relationship between AC and MC. 14
OR
(a) Explain the relationship between AR and MR under imperfect competition.

(b) Explain the meaning and functions of Market.

Elucidate demand for money. Discuss the motives of demand for money and factors
affecting demand for money. 14

OR
(a) Explain the concepts of M,, M,, M3 and M 4

(b) Describe the various types of money.

Explain the concepts of economic growth and economic development and discuss the
indicators (i) PQLI and (ii) Basic need approach. 14

OR

Explain human development index. How is this index calculated ?

(a) Describe performance budgeting and zero-based budgeting.
(b) Explain revenue expenditure and capital expenditure. 14
OR

Explain the meaning of indirect taxes. What are the merits and demerits of
indirect taxes ?
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Answer the following questions in one line : (any six)

(1)
2
3)
4
(&)
(6)
(7

What is opportunity cost ?

What is Human Poverty Index ?

In economics how do we define ‘long run’ ?
Explain the diagram of average fixed cost.
What is Real Cost ?

Explain Fiscal Deficit.

What is convertible paper money ?

Select the correct option :

(1)

2

3)

4

(&)

(6)

(7

®)

If a branded watch costs ¥ 2,000 in India and it costs 100 dollar in US, the
PPP exchange rate with respect to that branded watch would be 1 dollar =

(a) 200 | (by %20
() X 10 (d %50

Which tax is called tax on honesty ?
(a) Indirect tax

(b) Direct tax

(c) Regressive tax

To calculate PQLI, real per capita income (PPP) is considered.
(@) True (b) False

The basic need approach is better measure of development than Human
Development Index.
(a) True (b) False

If an industry releases it’s polluted water to river, it is called real cost.
(a) True (b) False

The distinction between the fixed cost and variable cost is possible only in
the

(a)  Short run (b) Long run
Broad money refers to

(@ M, by M,

(© M, (d M,

motive of demand for money is very important according to
Keynes.
(a) Transaction
(b)  Precautionary
(c) Speculative




